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Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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Formulae: Higher Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section x length Area of trapezium = 5 (a+bh

[f—a—

h
I b .
- 4 3 : 3 1 2
Volume of sphere = §m'~ Volume of cone = gm"h
Surface area of sphere = 471-? Curved surface area of cone = /

Nz

In any triangle ABC The Quadratic Equation
' The solutions of ax® + hx + ¢ =0
where a # 0, are given by

Sine Rule —4 _ _? <

sind  sinB  sinC

Cosine Rule &> = H* + ¢*~ 2bc cos 4

Area of triangle = — ab sin

b | —
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Question 1

Chris plays golf.

Here are 15 of his scores.

g e e @

® @ @

(a) Draw an ordered stem and leaf diagram to show this information.

You must inelude a key.

9
Oz 336
,
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{b) Write down the mode,
(1
(Total 4 marks)
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Question 2

Lad
-
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Question 3

41

(a) Rotate triangle P 180° about the point (—1, 1).

Label the new triangle A.

JKing -5-
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Question 4

4.6+3.85

2. Work out —_—
3.2° —-6.51

Write down all the numbers on your calculator display.

- L csyisss

(Total 2 marks)
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Question 5

Here is a list of ingredients to make melon sorbet for 6 people.

Melon Sorbet
for 6 people

800 g melon

egg whites

lime

L e

—
e}
[

[l =]

caster sugar

Terry makes melon sorbet for 18 people.

(a}) Work out how much caster sugar he uses.

00N 3

Hedley makes melon sorbet.
He uses 2 limes.

(b} Work out how many people he makes melon sorbet for.

k X L

JKing
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Question 6

S/:X.ﬂ — 3 oo
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Question 7
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ol ot e area of the cicle,

Ve Vo ansver corredt o Y algn
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Question 8

A straipht lne passe: el 60, =21 awd (5 10

Find the squation of the suaighr line, ¥

Y, Wy - - 2
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Question 9
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Question 10

All asked 200 students which sport they like best.
They could choose swinuning or tenmis or athletics,

The twe-way rable shows some mfonuation about their answers.

Swimming Athletics Total

Female f 1o

Male 36 42
Total 79 54 200

Complete the two-way table,

{ Total 3 marks)
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Question 11

Tolvwy mvested £4500
He was pard 4% per auminn componnd interesn.

ATIES ACUOUE.

(ay How mnels did Toby |

L

M) for 5 VEBIS Y A SOVILES SCCOLML.

Faspiy wivested £24
PET s compomd terest,

He was paad 7.5%

e e hiad £3345. 51 1 the savings account,

At the 2nd of the v ve

Worke ot the value of .

JKing -14 -
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Question 12
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Question 13

Yoy
e
e
w5
ol
=
E 4
-
e
%
b
b
by
o
-

oo

2L\ Lo

%025

L (50

265

JKing

% o5 [N
arvad s owonch e mieding hes,

LJ’\
O
A

-16 -

"PiXL..

partnoers in excellence




"PiXL..

partners in excellence

Question 14

- G kS

In a sale. normal prices are reduced by 12
The sale price of a digital caners §s £132

Waork out the notmal price of the digital camery.
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{ Tetal 3 marks)
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Question 15

{a)

JKing
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Complete the table of values for y = Y3+l

(b}

¥

=

It
e

0 I

¥

11

[ 4]

-]
g 1 - -4 Y

(2}

On the grid, draw the graph of y = x* — 31 + |

}(
1%

{c)

(2}

Use your graph to estimate the values of x for which v=3

=======

B TR "
(Total 6 marks)
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Question 16
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Question 17

Dingrams MUY secwrately o

The disgram shows two shiapes,
o shape A oli of the apgles
Shape 8 s 2 rectangle.

Adl the messmrements e in centimeles.

gl anghes.

Thee aven of shape A ks equald i e amea of shage B

m serems of & or the

.

Find sn enpression, o wvios of 5 for e Jengrh sud an sxpee
width of shape &
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Total 6 marks
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Question 18
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ABCL and PORS ore wathenatically similar

2} Find the leagth of PO,

2 sy o
& F i T N

w

(b Fmd the leugth of 40

et PRI s Kt 1

{2 3

{Total 4 marks)
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Question 19

Here 15 a right-angled triangle.

{a} Calenlate the size of the angle marked v,
Grive your answer correct to | decimal place.

Hers is another right-nngled uiangle.

Dagram MOT
accurately drawi

{b) Caleulate the value of y.
Give your anaswer correct o 1 dechiual place.

{Total § marksi
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Question 20

The table below gives some information abent some smdents i a school.

Year group Boys Ceinls Total
Year 12 126 fﬁ—i 220
Year 13 77 L8 162

Total | 203 178 382

Andrew is going to carry out a survey of these smudents.
He uses a sample of 50 smudents, stratified by vear group and gender.

Work out the mmmber of Year 13 gils that should be m his sample.

{Total 2 marks)
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Question 21

¥
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Question 22

A water coutaluer has 1907 litves of water 1n i1
A cup helds 210 nyf of water,

At most B2 cups can be filled completely fromn the water container,
Explaiz why.
You moust show all your woarking,

s TING X
'z%;wf » Qi%

e
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Question 23

Max and Lili have 9 bottles of juice in their fridge.

They have
4 bottles of orange juice
3 bottles of cranberry juice
2 bottles of mango juice

They each take a bottle, at random, from the fridge.

What is the probability that they each take a bottle of the same type of juice?
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(Total for Question 16 is 4 marks)
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Question 24

Dingram NOT

pueniniely ¢

Iy Calovlate the length of 48
Give vour answer comect 10 3 significad ligures,

S "
e B, Sl i ¥ b -
e & H L, = e O

{Totuld 5 marks)
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Question 26

Selve the sunulaneous equations

V1 A W:@ pou
Vi = Sy

%

oy Tl =3

dv=3r= 11
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(Total 4 marks)

This is the End of the paper

JKing
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